Moles - Mass Reloadionship.

- One mole (Lo.Oax(Oagpo.r“Hcles) has o specific mass, called
the Molar MASS.

Molar mass : the sum of the afomic. masses of all +he cdoms
of each elemunt in o compound

| mole = molor mass g?

1o mGake this o 6 e we can usé
40 solye pmblems:

Lmol or Molar mass
molar Mass | oL
- calewloding Molax MAsS. - get out Leor Reriodic Table!
Examples
L woter - Hao 4. pofassiom dichromate
K07
AH x 1.O/g = 4089 A30ra 0%
10 ¥ 16.00q =¢1b.00 ¢
18.049 g K X 39109 = ¥3.30g
& C0rx 53.00g = 104.00g

F 0O 16.00g =, 113.009

3. calcium nrtrate

ca®” Nos 4 sulfuric acid
Ca(NO3)a H'" s0O4%
HaSOy

1 0o x 40.08g = 40.0%9
AN x 1{.0lg = 45039 AHX 1.OI9 | = | 4029

(O | |®-ch=+q’. v g Kjao'_]g = 330‘49
{0 ¥ 16.009 =+4.009
98.099




- Solving problems.

Ad ckl'
Au(cn)3
&exomples A~
/) L How mamd@:@are In &nghiggjgﬂlﬁ%amdf7
unkhownN

gluen.
We will he using dimensional! analysis & molaL maoss 1o
solue. these. problems.

45.00/ Aulcn)z| | mol _ .0908991F4( = . 090690 mol Au ()3
‘37'5.035’

Holar Mass - Au (el s

1 AU x 19.9%9 = 1906.9%9
3 ¢ x 13.0lg~= 30039

3N x 14.0l9 = +43.039
435.039- ~ C.Cly
4. What is the 0.295 mous of_carbon tetrachioride ”
wnknown giuen
0.895mdl e0la| 153.819 _ 4537395 = d5.4gCely
| el
Molar Mass - Lld
1 Cx 13.0lg = 1a.0I9g
o [t x 35-"{69 = 141.30g i
No ¢
153.819
A Nold
3. How man%(mOUS)are in 0700.02} 047 sodium ehloride ?
unknown

given
200.09'Na 0L | 1m0l _ 5423313484 = 3.4 mal Na.L
| 58.4dy

Molar Mass - Nag

4 No x d2.999 = 42.999
1 0 X 35459 = 35499

5g.4dg




HH— Fl._
F

i
1. whot is “/’heO*rQ b. 50 XIO-L/moles ol h%zlro#/uor/'c acid”
unknown glven
b.50 X105 il HE] 0.0(9 __ 0130065 = .01309 HF
[rpat
Molar MasS. - HF
1 H xiolgi= LOlg

1 F x(9.00g =+19.00
0.0l g



